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1. What do you know from ihe dialogue?
A. The woman has been married for at least twice,
B. The woman has never been married.
C. The woman has been marricd to the man,
2. What's the possible relationship between the 1wo speakers?
A. Old hen and young hen.
B. Old cat and young cat,
C. Old dog and young dog.
3. What's the opinion of the woman about the dresses?
A, They are not good and the price is high.
B. They are good and the price is low,
C. They are good hut the price is high,
4. What do you think of the man?
A, He is very honest,
B. He is dishonest,
C. He is believable.
5. What is the probable result afier the dialogue?
A. Grandma agrees to buy his grandson a horn,
B. Grandma buys hus grandsen a horn without delay,
. Grandma doesn't agtee to buy his grandson a horn at all,
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6. What do you know [rom the dialogue?
A, The wotnan has planned a party for Peter,
B, The woman has got a promation this time.
(., The wotnan has let the cat vut of the bag.
7. What does the man ask the woman to do?
A. To play the plano,
B, To tell him what the party is.
C. To get evcrything ready.
g T BMH . EES s E 0.
8. Where shall the woman go to see the palace?
A. Notre Dame. B. Versailles, C.
9, Where is the best place to eat at according to the man?
A, Notrc Datme, B. The Maxim's. C. The Eiffel Tower.
10. What does the man request the woman to do [or him?
A, Eat at the Louvre.
B. Take some pictures,

Louvre,

C. Send a postcard,
i S B ML BIES 1R 13 4,
11, Why did the couple go 1o London?
A. On business.
12. What did the woman want to do first?
A. She wanted some food for herself.

B. For sightseeing. . To buy a pet dog.

B. She wanted some food [or her pet dog.
C. She wanted some drinks for her husband,

120 440 FEJF £ H 08D

13. What had happened at last?
A. The woman had an excellent meal at the restaurant,
B, The pet dog had broken a plate at the restaunrant,
C. The woman had lost her pet dog.
Wi o BA LSS 10 E 17 &,
14. What is the favorite [orm of entertainment 1n the U, 8, 7
A, The Internet. C.TV.
15. What are the most widely walched programs?

B, Sports.

A, Current or historical documentaries,
B. Talk shows.
C. Annual sporis championships.
16, Why do many candidates spend a lot of money on TV ads?
A, Because they wanl (o say bad things about the other candi-
dates,
B. Because they want to get more profits [rom TV ads.
C. Because they must have their careers started as TV stars.
17, Which is true according to the text?
A, Sports teams usually get more money from tickel sales than
[rom TV,
B. Ronald Reagan =et a good example lor American President
on TV ads,
€. Therc are many advertisements on TV in the U. 5.,
i 10 B B 18 E 208,
18. What happened to Charles Chaplin?
A, [le was shot by a robber,
B. He was stopped by a robber,
(. He was threatened by his master.
19. Which of the following didn't the robber shoot at?
A, The hat C. The shoes,
20, What was the resubt of the story?

B, The trousers.

A, Chaplin got away with the money.

B. The robber rode away with the money.

C. Chaplin made his master believe him.
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1. Where is Sue now?
A, At the office,
2. How long does the wonmn have to wait?

K. At her own home. C. In the hospital.

A, Ten tninutes. B. Forty minutes. (. Fifty minutes,
3. What does the man advisc the woman to do?

A, Take the dictionary away.

B. Buy a dictionary for hersell,

C. Use the dictionary al home,
4, What is the relationship between the two speakers?

A. Writer and reader,

B. Salesman and customer,

C. Husband and wifc.
5. What does the man tell the woman 10 do?

A. Tou attend a mecting,

B. Te lock for a reporr.

C. To prepare for a plan.
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1, When will Erwe arrive?
AL 10,50, B0, 45, 11,20,
2, What did the wacher do?

RN P gt
M6 B E B 6.7 R,
6. What month is it now?
AL May. B. June. C.luly.
7. What does the woman offer to do for the man?
AL To type his paper,
B. To help him with his research.
C, To organize his {inding notes,
WETHHN EEESE 108,
8, What #re the two speakers going to do now?
A. To walk around town.
B. To call their {riend.
C. To eat something,
9. Why docs the man want the woman 1o meet Howard?
A, He is a funny man,
B. He v the hotel manager,
C. He is leaving the town soon.
10, When will the two speakers meet Howard?
A, At 1:00, B. Before 1,00, C. After 1 :OO;
W AR RSN FEIE,

A. He persuaded the wotnan not w take the conrse,

B. He asked the woman to study history.

C. He gave a talk ta the history class.
3, What does the woman mean?

A. She can help the man,

B. She has done the exercise,

C. She wants to do the exercise with the man.
4, What will the woman do?

A, Stay up all night.

B. Finish her paper.

C. Go to bed,
5. Where does this conversation take place?

A, In a post office,

B. In 2 bank.

C. In a department store.
WA EE 15 A EAE 1.5 4, WA 22.5 49
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11. Where did the conversation probably take place?
A.ln a depariment store,
B. In a furniture store.
C. In a factory,
12. What would the new sofas cost cach?
A% a9, B. § 63, C. § 65.
13. When would the woman probably come again?
A. Next Thursday. B. Next Saturday. C. In two weeks,
R IBME RES LEISH.
14. What holiday are the speakers talking about?
A, The summer holiday.
B. The winter holiday.
., The spring holiday,
13, What do we know about the woman speaker?
A. She has been to most interesting places in Europe.
B. Her jub includes the use of [oreign languages.
C. Bhe has a well-paid job in Britain.
16. What's the man’s difficulty staying abroad?
A, He is not used to the climale,
B. He is not familiar with the situations.
., He can’t speak loreign languages.
W L0 BIM RIS L7 3 208,

17, When did the air crash tike place?

A At 730, At 720, C. At 830,
18, How [ar did the plane travel when the crash happened?
A 0,000 miles. B. 150 miles. C. 12.000 miles.

(9. Why did the car workers go on strike?

A. For good working conditions,

B. For {fewer working hours,

C. For hugher wages.
2(1. Why was the man wanted by the police?

A, He attacked a bank,

B. He stole 5.000 pounds.

(", He killed some clerks,
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6, What happened to the man?
A, He feli and hurt hamself badiy.
B, Hc was very sick and was taken to the hospital,
C. He broke his leg in a tvaffic accident.
7. What is the man’s trouble now?
A, He has a chest pain and can hardly breathe,
B. He feels too weak to walk.

C. His leg is broken and his chest hurts,
8. How long will the man have to stay away from work?
A, Four weeks or less,
\ B. No more than one month.
C, More than one month.
\ D= b TR R R B N
. 8. Why did Mary call?
‘ A. To sec how her parents were,
* K. To tell her father some good news,
\ €. To invite her parents to her home,
10, What do you know about Tom?
\ A. He's Mary's son.
) B. He got a rise in pay.
‘ C. He is Mr. Davis’s good friend.
"11, IMow many children does Mary have?
\ A. Omne sen and onc daughter.
B, Twao sons and one daughter,
‘ C. Two sons.
| Ui S B AP e 12 F 1480,
12. What are 1they talking abow?
‘. A, A film. B. A book. C. An actor.
i 13, What do the speakers think of 9
AL It attracis only young people.
3. It makes prown ups vounger.
C. It is popular with both children and adults,
14. What does the woman suggest?
A. Thinking after reading it.
B. Seeing the [ilin,
C. Reading the book,
D 9 AR BIER DEITH.

15. What are the two speakers?




A. Teacher and student,
B. Two college students.
{. Two college teachers.

16, What ability is tested in Compound Dictation?
A, Reading ability. B. Translating ability.
C. Listening ability.
17, What will the woman probably doY
A, She will find a good job.
B. She will take the exam,
C. She will ask the man to help her,
W 10 BRHRL.EEE 18 E 208,
18, When did China make a formal agreement with its major
trading partners?
A, On Dec 11. B. On Sep 17. (.. On Monday.
15, What did the 2nd piece of ncws tell you?
A. 14 winners received peace prize,
B, 40 people received their awards for the same reason,
C. 14 winners in different fields won the Nobel Prizes,
20, What did you know from the 3rd piece of news?

(

A, The Dead Sea has stopped sinking.

B. The Dead Sea is lower than before.

C. The Dead Sea has sunk 6. 35 centimeters. .
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4

. What is the probable result of her exam?
A Ti's OK. B, Poo:.
. How o¢ld is the woman?

C. Excellent.

A, Younger than twenty,

B. Twenty years old.

C. Older than twenty.
. How much will the man pay for the tickcts?

A % 80, B, $ 240. C. F 180,
. What is the man's answer?

A He is happy to lend his dictionary to her.

B. He will not lend his dictionary to her.

. He doesn’t have his dictionary with him,
. What would Nancy like to receive?

A, A complaint. (358>

B. A phone call,

C. A letrer,
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. Where did the dialogue probably take place?
A_ At the man speaker’s home,
B. At an international airport.
C. At the seashore.

. What is the valuable thing the woman has got?
A. Luggage. B. Package. C. Watch,
. What do you think the man is?
A, A porfer, B. An official. C. A passcnger,

WA BMR . BERYE L.
. What is Mr. White doing when the two persons are talking on
the phone?
A, He's speaking to Mr, Green.

B. He's having a meeting.
C. Ie's meeting a cusiomer.

10. Why does Mr. Grey call Mr, White?

A, Because he'd like 10 meet Mr, White.

B, Because he’d like Mr, White to call him back.

C. Because he has got something imporiant o tell Mr, White.
tl. What is Mr. Grey’s telephane number?

AL SZ11-8307. 3. 3211 3857, . 3211-8537,

W 8 Pt H . HER 12F 48,

12. How many ties does the man have at least?

A, Three, 1. Four, C. Five,
13. Wherc did the man put his bluc tie?

14

15,

18,

17.

18.

19;

20.

A. In the cupboard. B. Under his shiet.  C. In his drawer.
. What can we learn about Sue?
A. She is Mrs, Johnson's sister,
B. 8he is the speaker's sister.
C. She is the person paid by the speakers to look alter their
children.
i s Bl L.EES L5 E1TH,
What's the possible relationship betwecn the two speakers?
A, Boss and employee.
B, Husband and wife.
C. Teacher and student.
What clothes does the woman usually wear at work?
A. A dark suit and a white shirt,
B. Jeans and a sweater,
C. A skirt or a dress.
What's the woman complaining about?
A. Her boss is unfair. )
B. The men is not listening to her carefully.
C. :‘mother:qu!an in the company has taken the job that was
supposed to have been given 10 her.
R85 10 BEbEst. EASE 18 E 20 M.
When did the traffic accident take place?
A A}}oyt 6 o’clock. B, About 730,
Who'wis killed in the traffic accident?
A, Miltart Green, B. Frank Miler.
Where did the fire break out?
A, At the corner of No. 104 Freeway.
B. At the corner of the 4th Freeway,
C. At the corner of the 1th Sircet,

C. About 700,

C. Jack Smith,
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1. At what time does this ®nversation take place?

2,

Po.

A, ALB 00, B, At 6:30.

What address is the woman looking for?
A, 514 Fifth Street,

B. 415 Fourh Street.

C. 415 Filth Street.

C. At 7.00.

. When did the man enter the People’s University?

A. {Une year ago,
B. Two years ago.
. Three years ago,

. What is the man used to?

A, He is used to wearing no hat.

B. He 1 used 10 going out on a cold winter day.
. He is used to being done harm to,

How much did the man totally spend?

AL A dollar 1wenty five cents,



B. Two dollars.
C. One dollar nincty-one cents,
MoFHE 15 N LS 5 A 22.5 41)
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6. What is the man locking for?
A, A book, I. Some paints,
7. Where has the woman found it?
A, On the desk. B. Under the desk.
WrE T EEME, EEE L E 10K,

8, What ts the man doing here?

C. A colored pencil,

C. In the desk,

A. He is an English teacher here.
B. He is waiting far a teacher here,
C. He gives oral examinations here,
9. What was thc man's mistake in the dialogue?
A. He mistook the woman for a studen,
B. He shouldn’t say those words,
C. Hc would he angry after he knew the truth,
10, Who is the woman in the dialogue?
A, She is a waitress.
B. She is one of the teachers here,
C. She is a student here.
s s BRAMsL. HER 11 E 148,
11, How long has Mr. Gibbon been collecting stamps?
A, For 12 years, B. For 28 years. C. For 40U years.
12, Who made Mr, Gibbon hecome interested in stamp collecting?

A. His father, B. His teacher. . His friend.
13, What's the size of Mr. Gibbon's collection?

A. About 12.500. B, About 10,000, C. About 15,000,
14, Which of the following stamps did Mr. Gibbon lirst collect?
A. American stamps. B Chinese stamps.  C, British stamps.

Wrds o BERi#, IS 15 F 1T,
15, What is the relationship between the two speakers?
A, Maother and son. C. Ductor and patient.
16. What does the man usually car for lunch recently?
A, Nothing when tired,
B. A sandwich and a cup of colfes,

B. Fricnds.

C. Not mentioned.
17. Why does he have headaches every day?
A. Because he works late into the night,
B. Because he eats too Little,
C. Because he hasn't been eating properly,
W 10 B AL, BB 18 3 20 .
18. Who is the speaker?
A. A class president,
I3. A store rhanager.
C. A committee( HE R chairperson,
19, What should the students write on the paper?
A. Their names,phone numbers and job preference.
B. The names and addresses of their guests,
C. The names of the committees they warked on last year,
20. Who should sign up?
A, Only students who have time for the work,
B. All the students who are at the meeting.
", Only students who have a telephone,
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1. On which day will the man come?

A, On any day in the week,

B. On other days in the week except Monday and Thursday.

C. On Monday or Thursday.
2. What did the man do last night?

A, Reviewed his lessons.

B. Went 10 see a football match.

C, Played football with his friends.
3. Which sign is 1t?

A, NO SMOKING! B BE CAREFUL! C. N PHOTOS!
4, How does this Miss judge the so-called gas man?

A, By looking at his clothes,

B. By questioning him.

C. By checking his 1D card.
5. What can we infer [rom the dialogue?

A. The woman has finished reading Gone with the Wind.

B. The man wants to read the book. oo,

C. The book is not worth reading.
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§. Therc were no classes yesterday afterncon, were there?
A. Yes, there were. B, Nos there weren't, C, No, there were,
7. Why did 1.i Feng look tired?
A. Because she had a bad cold.
B. Because she was busy looking after Aunt Huang's baby,
C. Because Aunt Huang was ill,
8. How did 1.1 Feng make the baby not cry?
A, Jumped,sang and so on,
B. Told a funny story,
C, Laugh to the bahy.
HETEHR.BEEIFTI1HE.
9. What happens when they are watking in the street?
A, They see a First Aid car coming.
B. They see a man lying ow the ground.
C. They see a man lalling off the Tadder,
10, What do they dov
A_They call the First Aud Center for help,
B. They move him to the side of the street
. The takc him to the nearest hospital.
L1, Which of the [allowing might be true?
A. The boy and the girl are nurses and doctors,
B. The man must be badly injured.
C. The police come and help,
R AR RS 12 F 148,
12, What do the Americans do when they meet a siranger?
A. They must say “Nice to meet youl”
B. They must say “Tlow do you dot™
C. They aiten just say “11i" or “Tielio” 1o him with a smile,
13, What do the Americans usually not do when they meet a per-



son [or the {irst titme?
A. They arc {riendly 10 him.
B. They say “ILi” or “Hello” to him,
C, They shake hands with him,
14, What does an American often do when he is leaving?
A. He olten leaves without saying anything,
B. He olten waves goodbye,
C. He often gives a hand shake,
WP G BEE R LR 1S E 18 E.
15. What 15 the passage about?
A. Newspapers in Britain.
B. Shaps in Britain,
(. Meals in Britain,
16. When do most shops open?
AL 5.00 A m. . B.5:00 p.m.. C.5:30 p.m. .
17. What kind of shops will stay open ¢}l 8,00 p, m. 7
C. Big Food shops.
18, What things ure not allowed 1o sell on Sundays?
A, Candies,
C. The text doesn’t tell us.
BT 10 BERORL BIESE 19.20 @,
19, (On which page is Exercise 67 .
A, Page 101, B. Page 102, C. Page 103,
20, When should students hand in Exercise Book 27
AL ln the morning the day after tomorrow,

A, Newspaper shops, B, Clgarctte shops.

B. Cigarcttes.

B. In the afterneoon the day after tomorrow.
. Tomorrow alternoon,
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1. When is the train expected to arrive?
ACALY pomy B. At 5:30 p.om.,
2. Which hook has the man got?
A. A history book. B. A chemisiry book., €, A physies book,
3. What has the man done?
A. Something good. B. Something bad.
4, Why doces the woman like English?
AL Because it 1s very interesting.
B. Because it is useful.

C.A14,30 p.m,,

C. Nothing at all.

C, Because i is casy to learn,
5. When must Nancy turn in her composition?
A. By ninc o'clock.  B. iy tomorrow. C. By twelve o'clock.
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6. What program docs the man like?
A. Introduction to interesting places.
B. Weather reports.
C. Information abhout flights.
7. What will the weather be like in the next three days?
A Rainy. B. Snowy.
WidE 7 Etbr R L MIER 8.
8. What has the man done wrong?
A, He's lost Susan’s hook,
B. He's had a trallic accident while he was reading a book.

C. Sunny,

C, He's split some coffee on Susan’s book.

9, What will the woman do?
A, Copy the book.
B. Have some coffee with Robert.
C. Buy a book [or Robert.
WriE s Bt R EIBE 10T 12M,
10, What's the relationship between the two speakers?

A. Secrctary and hoss.

B, Teacher and student,

C. Doctor and patient.

11, Why was she late?

A, Her aunt called her 10 get up late,

B. She missed the bus,

C. She got a telephone call,

12, What can we know about the teacher?

A, He is strict with his students,

B. He is cold 1o bis students,

C. He gets angry easily.

FE 9 B AR B 13 £ 16 8,
13. What are they talking about?

A, A football matwch, B, The girl’s science, C. An exam,
14, What do you learn according to the dialogue?

A. The girl didn't do well in the cxam.

B. The boy likes football better than the girl.

C. The boy is very good at seience,

15, What do you know about the girl?

A. She isn't as good at football as at science.

B. She doesn’t like to watch TV,

C. She is interested in {ootball,

16, The girl doesn’t think .

A, there is a football maich on TV tonight

B. what the boy said is right

C. the Chinese team can win the game

WE 10 Bt p, EES 17 B 20 8.
17, Where would the small party be held?

A. In David’s house.

B. At Mr. Brown’'s house,

C. At Mr. Jones' house.

18. Whom did Mr. Jones invite to his party?

A, M:, Brown,

B. Mr. and Mrs. Brown.

C. Mrs, Brown,

19, Where was the telephone?

A. In the same office,

B. In a room next to the office.

. Near Mr. Jones’ house,

20, Why was Mrs, Brown looking for David?

A. Because he went out ouhe bouse,

B, Because he was answering faiher’s phone,

C. Because she thought he was playing somewhere ocutside.
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1. Where does the woman suggest the man should go to get
change?

A, From the manager,

B. From the purchaser.
C. From a mauchine,
2. How many students are good at hasketball?
A, 80, B. Most of them, C. 40,

3. Can the man buy a tie?
rudder.com.cnEPP



A, Yes,but not at a special, low price.

B. Yes,at a special.low price.

C. No,they are not {or sale,
4, How much did the coal cost?

A, The coat cost %22 in a sale,

B. He said that hc had bought a coat for 520, hut he was

lying.

C. The coat actually cost % 2 more than the advertised price,
5, What did the people think of their leader?

A. He was clever and honest,

B. He was neither clever nor honest,

C. He was clever but lacked honcesty.
WA OGE 15 ME EAE 1.5 2, 4y 22.5 )
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6. How many hours has the woman's fight been delayed for?
A5, B. 4. C.3.

7. Why didn’t the man pick up his sister? .
A, She had gotien on a flight from Hong Kong,
B. She had cancelled her flight.
C. She had gone away by a taxi,

Wi 7 BMR . EEE S E 0.
8. What did the man want?

A, Tyres, B. Tapes.
9. Who was the woman?

A. The man’s friend,

B. A shop assistant.

C. Ties.

C. A customer.

10, Where is the product made?

A, In Switzerland, B, In France.
N s BEM R HES 11 £ 138,

Where is the woman going 107

A. The Red Bird Zoo.

B. The Red Bird Show.

C. The Red Bird Hotel.

C. In England.

1

12, Where is the stop?
A, Across the street in front of the post office.
B. Acruss the block in front of the post offive,
C. Along the street in front of the advertisement.
13. How will the woman know where 1o get of[?
A, She will find it in a map,
B. She will ask the driver to remind her.
C. She will see the sign to decide.
WisE 5 B Rl IS 14 £ 17 8,
14, Who's the woman talking to?
A. Her sister, B, ITer friend, ", Her mother,
15, Where are the two speakers?
A. On the telephone.
B. In the sireet.
C. In the woman's house.
16, What's the woman doing now?

A, Washing,
What does the man invite the woman to do?

B, Ironing, C, Sweeping.
17,
A, GGo swimming,
B. Go to the movies.
C. Watch TV,
WrEE 10 B Ap R m S 18 F 2048,
18. How did the speaker and his wife get around in London?
A, By taxi. B. By bus. C. On {ool.

eruoftfer: con.crl

1%, Which of the following places they haven't heen to during their
stay in London?

A, Buckingham Palace,

B. The British Museum,

(. The National Galiery,

What could they do in Lendon that they can't do at home?

A. Have some very good meals,

20,

B. Go shopping.
C. See some very good plays,
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1. What does the man mean?
A, Tom is not always lazy.
R. Tam is not good at physics,
C. Tom has a hard timc at school.
2. How soon will the man's uncle get 1o the station?
A, In live minutes.
B. In filteen minutes,
C, In twenty minutes,
3. What's the relationship between the man and the woman?
A. The lost and the guest,
B, The 1ailor and the customer,
C. The doctor and the paticnt.
4, Whalt did the woman tell the man?
A, She doesn’t want to invite Susan,
B. She’d like to invite Busan to the party.
(. She's put Susan's name on the list,
5. What did the woman want to tell the man?
A, She found a watch in the library,
B. She's regained her lost watch,
C. She's bought a new watch.
oo 15 N E N 1S AL A 2205 48
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6. Where does this conversation take place?
A, At a booking office. B, At a museam. C. In a record store.
7. On which day will the Japanese Music Concert be held?
A, The 28ih, B. The 30th. C. The 15th.
8. How does the man pay for the tickets?
A. By credit card. B With U. S. doltars. C. By cheque.
WS 7 BM R AR 9 E 11 8.
9. Who is Jack?
A, The speakers’ son,
B. The speakers’ friend.
C. The sprakers’ pupil,
10. What is the man going to do in Los Angeles?
A, To attend a friend’s birthday party.
B. To mect a friend.
C. To attend some meelings,
1I. When will the man try to return from Los Angeles?
A On Thursday cvening,
B. On Friday morning.
C. On Saturday morning,
WiEs g BB 12 148,
12. Why is Sandy unhappy?



11.

16,

17,

A, He has lost his job,
I3. He didn't get the job he wanted,
C. Ile missed going to the musecums.
. Who has been 10 the museurnv
A. The woman and the man.
B. The woman and Sandy.
C. The man and Sandy,
Why docsn’t the woman want Sandy to get the job in the larger
company?
AL Because it 1» not a good joh,
B. Because it 15 so [ar away [rom where they are now,
C. Because he will not be well-paid.
e o BAR . mEEISEITH,
. What does the man do in the holidays?
A. Stay with his parents,
E. Have a {urther education,
. Take a part-time joh.
What can be learned ahout the woman?
A. Her parents are rich, B, She is a top student,
C. Her flat is free.
How is the man getting on with his studies?
A. Very well, B. Just so so, C. Bad, .
Wi 10 Brdi k. E2E 18 £ 20 8.
. Why did the man reluse to buy 2 TV set in the pasi?
A. He thought it was useless.
B. He thought it wasted time,
C. He thought it was too expensive,
. What did he usc to do in the evening?
A. He slept at home,
B. He played games at home,
C. He read books instead of waiching TV,

20. What can we learn from the talk?

A, The speaker is a person who can't change his mind.
B. The speaker is a person who eager to learn more,
. The speaker is a persun who can’t get along well with others.
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What did the man do alter he lost his passport?

A. He went to zee the foreign studem advisor,

B. Ile went to Washington.

(. He went to the Passport (ffice.

. Where 1s the woman going now?

A, To school.
C. To her [riend's house,

B. To the shop.

. When will the shirts be finished?

A, Friday morning. B. Friday afternoon.

C. Baturday alternoon,

. Who wanted to borrow the camera?

A Mary. B. Jane. C, Alice,

, Where is Fred now?

A, At lunch, B. In class, . At home,
ZHIt 10 B E|AE LS S 22,5 40
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10

11.

13,

14.

15.

17,

18.

19,

20,
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Where are the speakers?
A.In a hotel,
B, At a railway station,
C. At an airport.

. What's the relztionship between the speakers?

A, Manager and secretary,
B. Hushand and wife.
C. Mother and father,
WrEs 7 B EEE 80,

. When did his holiday start?

A, This morning, B, Last night,

C. Fourteen days ago.

. Which country did the man NOT visit on this holiday?

A, Spain. B. France, C, Russia,
TESEMR . MEEI0FI12HE.

. Where did Sue spend the nights in the country?

A, In a farm house, B, In the open, C. At a hotel,

What has the weather like in the country?

A, Tt snowed a lot,

B. It rained nearly every day.

C. There was a lot of sunshine,

. What did Sue think of the people in the country?

A_ They were interesting.

B. They were strange,

C. They were friendly.

A O B bb R IS 13 16 B,
What is Jack probably going to he?
A. A doctor, B. A businessman,
What did Li Hua plan to be at first?
A A doctor. B. A businessman. C. A lawycr.
Why does Li Hua want 10 learn English now?

A. Because English is very important for China.
B. Because English is very interesting,

C. A lawyer.

C, Because English is easier to learn.
. What are the two speakers?

A. Doctars. B. l.awypers.

VP4 10 BobtR L A 17 % 20 .
What is the speed limit on the highways in America?
A, 25 miles an hour.

B. 35 miles an hour,

C. 55 miles an hour.

What is on a traffic ticket'e,

A, Tralfic rules.

B. Why the driver is stopped by police.
C. How much the driver must pay,

. Students,

What will happen if a driver receives tao many traffic tickets?
A. He will be put in prison.

B. He can't drive for some time.

C. e can’t drive forever,

How is the traflic during the rush hour?

A, Quite heavy, B, Very light, C. Rather hard,
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1, Where are the 1wo speakers going?
A. To a restaurant, B, To a zoo,
2. When did the woman and Anna meet?
A At 7,53, B. At 7,58, C. At 7.57.
3. What is the woman going to do this evening?
A. Go to dinner.
B. Visit her sister.
C. Go to the airport,
4, How much is the TV sel?
A, B60. I $12¢0.

5. What can we learn from the conversation?

C. $o0,

A. The woman had a photo shop of her own,
B. The woman developed her photos all by herself.
C. The woman did part of her own film developing.
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6. What is Mr. Smith doing?
A, Answering the phone,
B. Having a meelting,
C. Working in the office,
7. When will Mr, Smith return to the office?
A. After twa o'clock.
B. In an hour,
C. At three ¢'clock,
5. What can wc infer from the dialogue?
A, The man will take a message for Mr. Smith.
B. Anne will ring the office again,
C, Mr, Smith will ring Anne back.
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9. What was the weather like last weck?
A. Nice and sunny,
B, Very warm.
(. Neither hot nor cold.
10. What scason 1s 1L now?
B. Winter.

A, Summer, . Autumn.

11. What does the man think the weather will be like this week-

end?

A, He thinks 1’1l rain.

B. He doesn’t think it'll rain,

(. He thinks it’ll be cloudy.
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12, Where is the woman?

A, On First Street,

B. On Main Street,

C. At the bus stop,
13, Where is Burns Park?

A, At the first crossing,

B. On the other side of Main Street,

(. At the corner of Lincoln and Fifth.

14. How can the woman get to the park when she is at the cross-

ing of First Street and Lincoln Streel?
A. Turn right and go straight.
B. Go along First Strect for a few minutes,
C, Turn left and walk two blocks.
WFSE o BedtH MBS s E17TH.
15. How much does the woman pay for what she huys?
A. %215, B. $ 385, C. $170.

16, Why does the woman change the [irst overcoat?

oszcfen com.cn

C. To a shop,

18,

15,

20,

A, It's oo expensive.
B. It's too large.
C.It's a bit small,
. What color is the overcoat?
A. Blue, B, White,
DrEE 10 B AR EESE 18 £ 20 8.

What is true about the school?

C. Grey.

A, It was built on a [arm.

B. Tt was built in the woods,

(., There were [ewer than twenty pupils.

Why did the girl laugh at the speaker when he first came w0
sehool?

A. Because he did not smoke,

B. Because he was too young.

C. Becausc he used his left hand,

How old is the speaker now?

AL 60, B. 87. C. 70,
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What doues the man mean?

A, The man shows pity for the woman.

B. The man persuades the woman not 1o go with Tom.

C. The man suggests the woman should reconsider her plan,

. Why is the man worried?

A. He must read a lot of books,
B. He docsn’t like history,
C, He can’t get the books he needs.

. What does the woman suggest the man should do?

A, Calm down a little,
B. Get medical advice,
C. Find a better doctor.

. How does the woman usually go shepping?

A. She goes by car.
B. She goes by bus,
C. She walks.

. What’s the woman doing?

A. Shopping for new clothes,
B. Getting dressed,
., Having a party,
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Where does the dialogue 1ake place?
A, In a railway station,
BE. At a lunch party.
C, On the phone.

. What is the rent?

A, 8 pounds 50 a week including dinner.
B. 80 pounds 15 2 week including furniture,
C. 8 pounds 50 a week. not including dinner.

. Which of the following statements is NOT correct?

A, The woman has a room 1o let,
B. The woman is having lunch.
C. The man can have a look at the rcom immediately.
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. What is the rclationship between the two speakers?



A, They are ticket seller and passenger,
B. They are shop assistant and customer,
C. They are friends.
10, When will the man arrive at the airport if he wants to take the
early morning flight?
A, A6y 50, B. At 7,50, C. A 8:00,
11, iTow much does the man have to pay for the tickets at last?
A, $59, B, %89, C. % 295,
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12, What do vou think Discoveries is?
A. 1t is the name of a book.
B. It is the name of a magazine.
C. It is the name of a newspaper.
13. Why did the man spend ten days in prison?
A. Because he was caught stealing.
B. Because he reported on prisons,
C. Because he wrote adventure reports.
14. What's the result of his adventure?
A, Peuple got excited and angry with prisons.
B. He lcarnt a good lesson,
L. Prisoners are now hetier ireated.
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15. Why is the woman moving?
A. To tind a nicer place to live in,
B. To live together with her parents,
C. To have a hetter job in a new place,
16, Where do her parcnts live?
A, In a big city,
B. In a small village.
C. In a nearby country.
17, Why doesn’t the woman 1ake her dog with her?
A_ She can’t take care of it.
B. Her parents den't want her to take i1,
C. She thinks the dog might not be happy there,
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18, What did Peter find when he woke up one morning?
A, His house was surrounded by the {lood,
B. There was water all over the floor,
C. His car was upside down in the street.
19, What is the usual rain falls of the whele month of June in
Peter’'s hometown?
A. About 16 inches.
B. About 60 inches,
C, About 17 inches,
20, What does the passage mainly rell us?
A. How people lought against a natural disaster.
B. A big flood struck Peter's bometown,
C. Many people died in a scrious flood,
= (2005 mon W = A a5 o ) CILT 45 L 38 4 30 40
E—-WHs pE;RAE LS. Ha 054
BTES BAWE. SENERA— T B HaH
ABC=A®Mmopih RiERR, FRELRMHREEE. TR
HEMIEE . REE 10 BEHRNERSS X AEMHET— b
B, HEMWHENE 8.
1. Where does the man prefer to live?
A. In the city.
B. In a foreign country,
C. In the country.
2. Who is the man speaking to?
A, A sceretary. B. An officer.
3. What has causcd the delay of the flightt
A, The heavy snow,
B. The thick fog.

C. An operator.

C, The terrible hurricane.
4, How is the management of the company now?
A, Poor, B. Good.
5. What is the probable relationship between the vwo speakers?

C. Just 50 s0.

A, Librarian and borrower,
B. Teacher and student,
{, Salesman and customer,
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6. Where is the {lat?
A. In the center of the city,
B. Far from a busy road.
C. Next 10 a patk,
7. How many bedrooms does the house have?
A, Two, B. Three, C. Four,
8. Where does the conversation probably take place?
A, In the [lat, B. On the phone. C. At an office.
7 BHR EEE E11 4.,
9, Who is the woman gomng to have lunch with?
A Tim. B. Alan, C. Nobeady.
10, What is one of today’s spectals?
A, Tomato soup, B, Sweel potatoes.  C, A green salad.
11. What drink 1s the woman going to have?
A, Coca Cola, B. Wine, L. Mineral water.
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12. What are the speakers mainly talking about?
A. A high school,
B. A French teacher.
(. A teaching post.
13. Where is the high school?
A, In France. B. In England.
14. What does the man think of the job?
AL Tnteresiing. B. Boring.
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15, What does the man like about his job?
A, His position. B. His pay. C. His teammates,
16. What does the man dislike about being a basketball player?
A. The training program.
B. Big games,
C. Weeks of traveling.
17. What does the man think the result of 1omorrow’s game will
be?
A. His team is sure to ge17he cup.

C. In Scotland.

C. Disappointing.

B. His team is unlikely to get the cup,
C. The Rockets has a big chanee of winning.
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18, Where is M, A. P Advertising?
A. In London, B. Out of London.  C.In the U 5 A,
19. Why has the woman decided to give up ber present job?
A, She has never liked working there.
B. She has {ound anocther joh.
C. She'd like 10 do something different,
20, How long has the woman worked in M, A. P, Advertising?
A. 4 years. B. 4. 3 years. C. Only 5 years,
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1. What is the man doing now?
A. He is boarding a plane.
B. He is mecting 2 friend of his at the airport.
C. He is seeing someone off at the airport.
2. Why does the man move 1o the countryside?
A, It's near the schoal,
R. It’s guict.
C. The old house was smail,
3. Where is the woman going to spend the holiday?
A, To Spain, B. To France, C. To Greece.
4. How old is Carl now?
AL 23, R. 24, C. 25,
5. What docs the man mean?
A, He will help the woman very gladiy,
B. He doesn't know the way to the post office.
C. He doesn't have the time to help the woman out,
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6. What is the man most probably?
A. A driver. B, A tourist guide, (. A wraveler.
7. What does the woman specially want to see?
A. The Great Wall and the Temple of Heaven,
B. Ming Tomhs and the Summer Palace.
C. The Summer Palace and the Great Wall.
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&, What is the woman’s problem?
A. She couldn’t find the pictures,
B. She ecan't decide which countries to visit.
C. She doesn’t know how to do her homework.,
9. What does the man suggesi?
A, Taking a trip.
B. Writing about a trip.
C. Trying 1o get organized,
1¢t. Why does the man have to leave?
A, He has 10 write his composition.
B. He's going 1o pack hus bags.
C. He's not feeling well.
FESEME MEEILEIIE.,
11. Qn what day did the conversation most likely happen?
A, QOn Friday. B. On Saturday. C. On Monday.
12. For what did the woman call the man?
A, Tu invite him to a dinner party,
H. To introduce him 1o some of her friends,
C. To ask him 1o go on a trip with her.
13. Which of the following is true according to the conversation?
A, The man was interested in attending the dinner party.
B. The man lelt sorry that he was unable to attend the dinner
party.
C. The man went on a trip with Tom and his wife,
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14, Where do you think they are talking now?
A, Tn the street,
C. In an office,
15, What did the woman go therc 10 do?
A. She tried 1o make [niends with the man,
B. She tried to find a job.
C., She wanted to {urther her study there.
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R. In a reading room,

16. How much can a clerk get in a day in the beginning?
A 16 dollars, B, 32 dollars, {". 120 dollars.
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17. What is the topic of the passage?
A, Schools in America.
B, Students in America.
C. Education in America.
18. How many years do elementary and secondary schools 1ogether
take in the U, 8, 7
A. 6. B.12. C. 13,
19. Which courscs are suitabile for a student who wants to work
after high school?
A, Accounting and typing.
B. Physics and chemistry.
C. Mathematics,
20. What ean you learn from what the speaker has said?
A, It's regulated in the U, 8. that children must attend school

nntil 18,
B. It’s hard for one without a high school diploma to [ind a
job.

C. Those who haven't finished high school education are a
problem of American society.
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1. What is the man going to do?
A. L.end the woman some typing papet,
B. Buy some typing paper lor the woman.
C. Borrow some typing papet from the woman,
2. What does the woman mean?
A, She doesn’t know how 1o relux,
B. She can't wait 1o be intervicwed.
C. She's too nervous to calm down,
3. What are the speakers talking about?
A. A big company.
B. A job upportunity.
C. A travel experience,
4. What are the speakers doing?
A. They are discussing their plan for Christmas,
B. The woman is meeting the man at the airport.
C. The man is seeing the woman off at the atrport,

o

. What does the woman intend 10 do?
A, Invite the man to do sports.
B. Invite the man to see a film,
C. Introduce the Workers’ C.ﬁlb.
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. What do the two speakers have in common?
A, They both study biology.
B. They both went to Death Valley.
C. They take the same chemistry course,
7. What does the woman say about Death Valley?
A.Ti is nicer than cxpected.
B. Tt is tou hot lor camping,
C. It is the only place she visited,



